B 1 — 275 HURE T (5 5 ZRBIFR)

JEE O GERE - E 10 :8./20~8./26%)

HEE & 4
No. JE &4 P FEERRDF ik = LRGSR

07 E& (8 3, 33 3MLLTF) = 25FHX 7H= 175FM
ﬁ 07 k@ s(83, 3331250, 000MUT) = THX 7H= TH
g@é 0% Em A (250, 000MK) = 75THX 7H= 525THM
" O5¢ L @b 10520 = FHX 7H= TH

057 Em A (83, 333MIUT) = 25THX 7H= 175TH
ﬁ 07 k@ sx(83, 333ME@250, 000MIUT) = THXx 7H= M
% O5E ksl (250, 000M#) = 75TFTHX 7H= 52 5TH
" O5¢ beid g = THX 7H= TH

07 E& k(8 3, 33 3MLLT) = 25THX 7H= 175FM
ﬁ O k@mkhA(83, 333M@250, 000MELTF) = THX 7H= TH
{ig 0% Em A (250, 000MK) = 75THX 7H= 52 5TH
" O5¢ beimd g = THX 7H= TH

05 k@A (8 3, 33 3MLT) = 25 THX 7H= 175TH
% O EmiA (83, 333M#E250, 000MLLF) = THX 7H= TH
%é 07 Em i (250, 000ME) = 75THX 7H= 52 5TH
" O5¢ L @b 8520 = THX 7H= TH

HEEER U582 L oG EZ Gt L TS W)




